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Obtenha a matriz inversa, se existir, de: 

1. 𝐴 = (
1 −1
3 1

) 

 

 

 

 

 

2. 𝐴 = (
5 7
2 3

) 

 

 

 

 

 

3. 𝐴 = (
1 −1

−1 1
) 

 

 

 

 

 

 

4. Dada 𝐴 = [

1

2
𝑚

−𝑚
1

2

], calcule 𝑚 de modo que se 

tenha 𝐴−1 = 𝐴𝑡 . 

 

 

 

 

 

 

 

 

 

 

 

5. Dada 𝐴 = (
1 0
0 −1

), qual é a matriz 𝐴2? E 𝐴111? 

 

 

 

 

 

 

 

 

 

 

 

 

Gabarito: 
 

1. 𝐴−1 = [

1

4

1

4

−
3

4

1

4

] 

2. 𝐴−1 = [
3 −7

−2 5
] 

3. 𝐴−1 = ∄ 

4. 𝑚 = ±
√3
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5. 𝐴2 = (
1 0
0 1

) ; 𝐴111 = 𝐴 

Exercícios: Matriz inversa 
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